QP Code : 09279
(2% Hours) [Total Marks : 75
N.B. : (1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Use of simple calculator allowed.
1. Attempt any two of the following :— 15
(a) Examine the types of life insurance.
(b) Explain the benefits of life insurance.
(c) Calculate single net premium for term insurance of 5 years.
Age Mortality per lakh Present value of rupee @ 5%
35 330 0.952
36 338 0.907
37 346 0.864
38 360 0.824
39 380 0.784
2. Attempt any two of the following :— 15
(a) Explain the objectives and principles of life insurance.
(b) Explain underwriting in non- life insurance.
(c) What are the types of group insurance schemes ?
3. Attempt any two of the following :— 15
(a) Examine the types of general insurance.
(b) Discuss the need for social insurance.
(c) Explain insurance sector reforms in India.
4. Attempt any two of the following :— 15
(a) Bring out IT application in functional areas of insurance.
(b) Discuss the critical success factors for insurance players.
(c) Examine the distribution channels of insurance products.
5. Write short notes (any three) :— 15

(a)
(b)
(c)
(d)
(e)

Features of life insurance.

Mortality table
Functions of GIC

Importance of general insurance
Marketing strategies of insurance players in India.
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